T OfLIG| UjOpH 1724+

ol

-

O 52 R

24.4. 24, 27 10:05

I ot whort

"0|H $XE WX/

R MY of

213 2024-04-23 05:00:03

=]

ofl
00

Kio

I.

& 2t8 =1t 0| A|I7} Zig Eeof

B[ O HA| HFoll M 2l

POl atX| o HMA F=7| & ST 60AIZH0 A 36AIZtC =

& XHH|E 2 30eh of| mhE Z=X|Cf,

oM At

1/6

https://www.joongang.co.kr/article/print/25244405



7 o . 3
S El
= S gy RO
ol - ol =o Mk
N < M- Ko = Bl
W] K OF &
0 — -
o o 3 T & O
F KO N g g3 o3
» < ] R <k
T Xk <k
T T o Ol ©
s F X +uou__= Pl i
= o o < K
3 o W Klo o
=) .__.__ﬂ._u m <k _|u._A .n_”u._._.__._
R Doy I
I N o - H
w S 0 Ko .ol Ko
LTI M1 O g ok
& UK g o1 W L =
PR Es &
<+ RI T — o m_ -
s R x oy wm_
"N T Uy H <
o o - KO
rd UK =0 o Ko <F
od <F o OF %0
ml NH_ H.AI |DI ot _|_._
S ~ 4 o8 —
ST H D ol 2
o o7 o O % K]
s OF o & Yz =)
= I T S5 o . h
§E O o g 78D un
¢ NI kO Rl » BO 3% jod
-
S

2/6

AFEo|| H=

Hol 7}

=

—

—_
o

teto)
ik

o
—
L «
—

_

ZI,

i
L

=]
?D:'_I_

7| & of| 20| t2f of A 2L

off

—

—

HAE 94 HZ0| LA} 207 952 wAgict o
=

[LE

BR= 20 7|20/ WAL =0t
E|H RF MA0f| FEl6HX]|7]

¥

=1
[E

https://www.joongang.co.kr/article/print/25244405

2020



L Obl ol mjoril 2z

=
=

of
i &0 0| O 92 A= R2{otal /ULt

77
=

=52 QN0 R 7| 20| LExF T £ EEH M=t
305k, 55 60% TEHOI M 7HE BE2 FHA[=7t A EICE 7]

-

O 52 R

24. 4,24, 27 10:05

Ct 2= M

7t

=
[S)

<r

<lo

b

A
o

L
—

oA Zlt7 ot 250| 7] 2 04210 &|7| W= 0|ct,

Ik

Bl 7t

¥

3
—

ErHEE =22 25~30

o
T

J|d
o)
olru
Joill
<

Ko
<k

22T E RFL 7|20| QEH ME KT IHEEX| 1, M2

TEOHM ThAl|s=2t

F2[5t7 |71 H = o’ Lt 7H T

Of Zdh &

2t

1=
[

3/6

https://www.joongang.co.kr/article/print/25244405



= opHlg) mjopl 2y

ol

.I

CEEEEERHEI

24. 4,24, 27 10:05

o S22|H o= deUl”7| = ofFCt &2 RF2 FH7H0. 1Immoi|

=
=

M7 AXME 210 7t

ol

bS|
A

A Ml

M5k, 2

=
=

|HX| LSl AZOILE WA 7|

4/6

https://www.joongang.co.kr/article/print/25244405



24.4. 24, 27 10:05

20202 M|F= MPZA HES of FEH AR 7| 2EJO|IM 2HE RF 25, wAl2

https://www.joongang.co.kr/article/print/25244405




L Obl ol mjoril 2z

ol

.I

O 52 R

24. 4,24, 27 10:05

(ANO| 7= E2[dfx 23S EX

HIC{|0|E{Q} Al 7|

IS

0

L
-

SAt
=

&

24K

ol

1T T = 4371 BFE+ZoA

-
O
—

LIl SOlCt.

A

n

ok

LRSICH= HolM AlAZH2 =2 H[0|E

M 24| 7|Xt jeong.eunhyel@joongang.co.kr

6/6

https://www.joongang.co.kr/article/print/25244405



